
Models K AICc ∆ AICc wi 

Initial height + Temp + Origin + Temp*Origin (1|Plot) 7 1044 0.00 0.73 

Initial height + Water + Temp + Origin + Temp*Origin + (1|Plot) 8 1046 2.22 0.24 

Initial height + Temp + Water. + Origin + Water*Origin + Temp*Origin + (1|Plot) 9 1050 6.38 0.03 

Initial height + Elev + Temp + Water. + Origin + Temp*Origin + Water*Origin + (1|Plot) 10 1052 8.16 0.01 

a Initial height + Elev + Temp + Water + Origin + Elev*Origin + Temp*Origin +  Water*Origin + (1|Plot) 11 1056 12.23 0.00 

(1|Plot) 3 1074 30.33 0.00 

 


